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ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINAT
e LASSE, ON 201810

MARKS :100
TIME : 4 Y%

Hours

1. ;
Where did you find my watch? (Choose the type of the sentence)
ce

, a. Exclamatory b. Imperative c. Interrogative .
. My father's friend is --—------—- European.  Declarative

a. a b. an c. the

' d.

3.  We must be quick. There is --==-=-=="=" time . none of the above

a. little b. much c. man

) ' Y d. fe
. few

4.  Fillin the blanks with correct form of the verb
l.... uviEl. (clean) my teeth three times yesterday.

a.) clean b) cleans c) cleaned d) will
5. Fill in the blanks with correct form of adjectives clean

Goldisa......oonnn- (costly) metal.

a) costly b) costlier c) costliest d) most costly

6. Fill in the blanks with suitable prepositions

Good citizens always abide . . .. ......--
a) with b)of c) by d) for

7. In tbe questions belc.)vsf: trlgre isa sentence with jumbled up parts. Rearrange these parts,
which are labeled i, 1, and iv to produce the correct sentences. choose the proper
sequence
i) she danced with joy i) that she had topped
iii) when she found out iv) the board examination
a) i, ii, iii, iv b) i, iii, ii, iv c) i, i, iv, fii d) ii, iii, iv, i

8. HCF oftwo consecutive natural numbers is
a. Product of two numbers b.0
c. 1 d. 2

9. Theregionin the interior of a circle enclosed by an arc and a chord isg
a) Segment b) sector c) radius d) circumference

10. Solve: (-7) - 8- (-22)

7 d) 37
a) 21 b) (-7) c) (or hersell
. : rhe .

11. Adithya bought 2 ¥ m of cloth and used up 1 1, mofitto stitch a dress 10
How much of the cloth is left with her?

1% m d)9/4m
a) ¥am b) 15/4 m c)

42. What must be subtracted from =5 0 get0? g) none of these
a)5 | b) -5 c)0

13. The value of -25 - [8 - 12] is d) 21
a) -25 b) -45 1 c) 29
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14. The product of 4259 x 92 + 8 x 4259 is c) 42509 d) 425009

a) 42590 ) 423800 btained by reversing its digits is
15. The difference between 895 and the number 0397 d) 297

a) 792 b) 927 ©)
16. Which of the following is a Prime Number? 16 d) 193

' c
) 8¢ P11 s and muscles?
: i f strong bone
i i I is necessary for the formation o )

17. Wt:;c: minera b Coaleen c. Phosphorus d. Potassium

a. I .
18. Which of these is not a fibre? oather d. wool

a. Jute b. nylon c. lea .

i i icles in a liquid is )

19.  The process of settling down of solid partic . _ '

a. Decantation b. sublimation c. sedimentation d. filtration e
20. The bones at the joints are held together by ib

a. ligaments b. cartilage c. tendons - Done marrow
21. Which of these is not a product of excretion? .

a. Sweat b. Urine c. Energy d. Carbon dioxide

22. Abattery is .
a. A combination of cells in which cells are joined (+) to (+)

b. A combination of cells in which cells are joined (+)to (-)

C. Asingle cell
d. None of the above
23. Choose the correct order
Fibre to fabric
i. Harvesting — ginning — spinning — weaving o=
ii. Ginning — spinning — harvesting - weaving
iii. Weaving — harvesting — sinning — ginning

iv. Harvesting — spinning — ginning — weaving
(@i (b) ii (c)iv (d) both i and i

(a) hard . (b) insoluble (c) opaque (d) transparent
25. The part of 3 leaf by which it is attached to the Stemis ... ..
(a) Lamina (b) Petiole (c) Vein (d) Midrib
26. Which Planet js called the ‘Earth’s twin'?
a. Venus b. Jupiter C. Mercury d. Saturn
27. Where was Magadha located?
a. South Bihar b. Maharashtra C. Uttar Pradesh d.’Arunachal Pradesh
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Who hel i ’
Ped ending of racial discrimination in Sout, Africa?

a. Abrah i

" am Lincon b. Nelson Mandela  c. Mahatmg Gandhi
";er Solstice occur in which date? " 0% B R Ambectar

a. o

" 2nd December b. 21st June C. 23rd March d. 3 Olg
hBO was the founder of Mauryan Empire? +=om January o

a. Bin

dusara b. Chandragupta May

C. Ashoka d. Harsha e

From where did Harappans get copper?

a) Mumbai b) Delhi c) Kerala d) Rai

Aleap year rre

a) has 366 days and comes in 4 years
b) has 355 days and comes in 4 years

¢) has 365 % days and come in 5 years
d) has 365 % days and come in 4 years
Who drafted the Indian Constitution?

a) Mayavathi

c) Dr. B.R. Ambedkar

At which level does a Government work?

b) Kanshi Ram
d) Lal Krishna Advani

a) local level b) state level c) national level d) all of these
Dodo birds have been extincted from the earth. Which country did they belong to?
a) Bangladesh b) Nepal ¢) Mauritius d) India

The time difference between GMT and IST is

a) 2 hours b) 5 hours c) 5 %2 hours d) 3 Y2 hours

Which state government recently launched ‘Shakti App’?
a. Kerala b. Maharashtra c. Himachal Pradesh d. Uttar Pradesh

Which river water is shared by both Karnataka and Tamil nadu?
a. Krishna b. Kaveri c. Narmada

The world’s largest solar park will come up in which Indian state?

a. Madhya Pradesh  b. Gujarat c. Tamil Nadu d. Kerala
Who was the first Indian to swim across English channel?

a. V Merchant b. P K Banerji c. Mihirsen d. Sania Mirza

Who won the Australian Open Women's Single Title in 2018?
b. Simonia Halep c. Caroline Wozniacki d. Navomi Osacca

d. Godavari

a. Angelique Kerber

Who is the inventor of television?
a) John Sheperd Baron b) John Baird
c) Nodir Abu Satha d) Stephen Grey
Who wrote famous book “ Paradise lost™?
' Keats
a) John Milton b) Jo‘h‘n
c) William Shakespeare d) William Wordsworth

Scanned with CamScanner



éﬁ

ationship . Glove : Hand

Socks : Feet

est illustrate a similar rel
C.
ven letters

ick up the pair that b :
) # b. Tie : Shirt '
ou can frame with the g!

44.

a. Neck : Collar
45. What meaningful wordy

STIRH

a1213543542 1 B 21345 d.12345

' ' : st les to two moth

46. How many apples will each one get, if you distribute 3 app ers ang their

two daughters giving a whole apple to each?

a. 1 b. 2 c.3 d. not possible
47. BONAFIDE is to genuine as DE FACTO is to

a) assumed b) together c) actual d) assumed
48. What number is missing? &x

38(1924)96 .

64(3217)68

48 (?) 56 ,

a) 2114 b)2444 c)2414 d) 4242

49. Which is the odd one out?

a) BAABET b) ARNICA c) COLEUS d) IBERIS
50. “Billy" is to “goat” as “jack” is to »

a) k .

) kangaroo b) deer c) ferret d) donkey
51 F TIE BREAKER UESTION
. Find the missij :
Ssing number in the Sequence 28 , 33 , 31 , 36, 39
b. 34 c.38 T
' . 40
&z

a. 32
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